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5 A security system records video footage. One minute of video requires 180MB of storage. The
recording system can store several hours of video footage:

(a) Name and describe a suitable storage device for this recording system.

(b) Calculate how much storage would be needed for 2 hours of video footage.

‘Show your working and give the answer in Gigabytes (GB).
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9 MP3 file compression reduces the size of a music ile by 90%
(a) Amusic track is BOMB in size.

Calculate the fle size after compression.

How many MP3 files of the size calculated above could be stored on an 800MB CD?

@
(b) (i) Explain how MP?3 fles retain most of the original music quality.
@
(i) State the type of fle compression used in MP3 files.
m
i) Name another file compression format
m
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(€) The clock alarm has been set at 08:00.

Describe the actions of the microprocessor which enable the alamm 1o sound at 08:00.

@

e B

Canthese bytes of data pass the even parity check?

(a) 01010101

(b) 11001000

() How can any errors be corrected?
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9 Andrew sends a large document to a printer.

(a) State the name for the area of memory used to store temporariy the data being sent to the
printer.

m

(b) The printer runs out of paper during the printing job. A signal is sent back to the computer 1o
stop temporariy ts current task.

Name this type of signal.
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10 In a simple symmetric encryption system, each letter of the alphabet is substituted with another.

‘The plain text message
The quick brown fox jumps over the lazy dog.
becomes the cypher text message:

Zag towvs jumpy dmh coilr mngu zag bike qmx.
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9 Draw a line to connect each question to the correct answer.

Question Answer

What s the denary (base 10)

equivalent to the hexadecimal 8
digit E7

I 1GB = 2* then what is the 12
value of X2

How many bits are there in one

byte? 14

Ifthe broadband data download
rate is 40 megabits per second, 19
how many seconds will it take to

download a 60MB file?

Whatis the denary (base 10)
value of the binary number 30

001001007

What hexadecimal value.
is obtained when the fwo
hexadecimal digits C and D 36
are added together?
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n computer terms and sex
Draw a fine to link each computer term o ts most appropriate descrptin.

Computer term Description

Reducton offle size by permanently removing
undant information from the fle

Interrupt

Hardware component that allows the user (o

Lo communicate with a computer or operating

compression

The fl is reduced in size for ransmission and
storage; tis then put back together again later
produc

Lossy
compression

ignal sent {0 a processor which may cause
 break in execufion of the cuent routr
according o pror

format
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(b) Eachimage taken requires 1 MB of storage. Ifthe camera captures an image every 5 seconds
over a 24 hour period, how much storage is required?

Give your answer in gigabytes and show all your working

@

() The shopping mall has over 100 cameras. At the end of each day al these cameras send
their images, captured over the last 24 hours, to a central computer.

Explain why the mall uses dedicated fibre opic cable rather than transmitting the data over
the local broadband network
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9 A remote-controlled model car contains RAM, ROM and a solid state drive. The car receives
radio signals from ts remote control. It can only receive radio signals of a certain frequency. The
manufacturer sets this frequency and the owner cannot change it The owner of the model car can
input their own sequence of movements from an interface undemeath the car.

() Describe the purpose of each of the three types of memory supplied with the car.

RAM

ROM

Solid state drive

&)
(b) The owner needs to be able to enter their own sequence of movements for the model car
Name a suitable input device.

Input device

Give a reason for your choice of device

@

() Explain why the model car uses a solid state drive rather than another type of secondary
storage q
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